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Ques # :1

Which of the following instruction need not to be executed in kernel mode ?
1) Change memory management registers

2) Set the time of day clock

3) Change processor priority

4) Write the program counter

foeT 3 @ orar 3reTaer 1 Fterer A1s # Branead F A STaeawaT g 8 2
1 AT FaereT ISEe # deelrg

2) gy 7 T T THT AT L

3) SIRIER T g fRAeRdr 7 seora

) QYA e &t for@en

Ques # :2

Which of the following process state transition is not possible ?
1) Run — Ready

2)Run — Blocked

3) Blocked — Run

4) Run — Terminated

A 7 @ P TRT Re A Flaar seaa ana g § 2
H&E —> ﬁt

2) Td —» Edlds

3) =llds — T

4) T —» cif=es

Ques # :3

Following are applications and scheduling algornthms:

A) Guaranteed S5cheduling 1) Gang Scheduling Algorithm

B) Real Time Scheduling 2) Rate Monotonic Scheduling Algorithm
C) Thread Scheduling 3) Fare Share Scheduling Algornthm

Which of the below combination suits better :

1) A-1,B2,C-3
2) A-3,B2,C-1
3) A-2,B-3,C-1
4) A3,B-1,C2

feraferiaa stequaier va Asgfelar ealiaA ¢ :

A) TIRES Asgfeiar 1) 3far Aggfelar sreaniias

B) Rarer ersa dsgfelar 2) Y€ Aieifeie Asfeidr ealiaA
C) 95 Asgfelar 3) B AW Aggfelar FeaRaH
et A & Flerar Ao 3ugad &

1) A-1,B-2,C-3

2) A-3,B-2,C-1
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3) A-2,B-3,C-1
4) A-3,B-1,C-2
Ques # 4

On a System with 224 bytes of memory and fixed partitions, all
of size 65,536 byte, how many bits must the limit register have?

1) 8

2) 16
3) 24
4) 32

fofae v # fraer fae g anfer ofg 2* ame =fa
TS 65,536 a5T F Thers arefeT § 2

1) 8
2) 16
3) 24
4) 32
Ques # :5

Which one is not true related to segmentation ?

1) Segmentation is faster than paging.

2) Program is divided into variable size segments.
3) Compiler divides program into segments.

4) Offset must be added to starting segment address.

QIHAA & Tegd H & FIAAT FUT TEI 81 § 2
D) gerdeers, afior @ s

2) Qe =) 3TER & Yerde F Fanfaa gar g
3) FFATSR, WA & Qarde 7 fFefog sarg
4) QaTdT USH & URH H HPAT I AT TE 8

Ques # :6

Size of virtual memory depends on the size of ?
1) Data bus

2) Address Bus

3) Main Memory

4) None of these

3YeasT T 1 IR @ & & ek PR w i d 2
D srersa

2) vy aw

3) HaT A

RESUEELE T

Ques # 7

Sector interleaving in disks is done by ?
1) Disk Manufacturer

2) Disk Controller

3) Operating System

4) None of these
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B A o gl fFas garr Far s 2
D) fae fatar

2) 3% s

3) R REen

D g A

Ques # :8

In round robin CPU scheduling , as the time quantum is increased , the average turn around time -
1) Increases

2) Decreases

3) Remain constant

4) Varies irregularly

33 Afaer W7, A5 wfthar &, Sra ersa FaTeH Y Ter T ST @ A HHAd o IR FAT
1) g2arr

2) g

3) g I

1) ferafaa seoma

Ques # 9

In operating system which one of the following is not a scheduling algorithms ?
1) FCFS

2) SJF

3) Round Robin

4) Starvation

FTRFET v &, 33 @ Fie AsgAer semRuar 71di 8 2
1) FCFS
2) SJF

3) s AT
1) FERAYT

Ques # :10

Fence register is used for ?
1) Memory Protection

2) File Protection

3) CPU Protection

4) All of these

e orEeT STy fFaT Star & 2
D wfer e

2) thrgor GaT

3) g, geam

4) gerey & ol

Ques # :11
Amount of work completed in a unit of time is ?
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1) Throughput
2) Response
3) Turn Around
4) Latency

SHIS FAYET & fAsuifed 1 Fr T SATAT R 2
Degge

2) Reaig

3) &t 3NT3s

4) ¥y

Ques # :12

Which one the following is a technique to prevent starvation ?
1) Context Switching

2) Flooding

3) Aging

4) Dispatching

T 7 ¥ Flad e ERIIF R AFAF F AT 2
1) spieeeree &R

2) garfgar

3) ufSir

4) feeafiar

Ques # :13

Which of the following is not a memory allocation method ?
1) First fit

2) Best fit

3) Worst fit

4) Not fit

ot 31 @ et 1 TRy e 1 AT A 2
D) weg fipe
2) 9¥e fve
3) 3¢ fbe
4) dte fhe

Ques # :14

Physical memory is broken into fixed size blocks called ?
1) Frames

2) Pages

3) Chunks

4) Buffer

siifas Ffa & R sreR & Renfore somes wgarad 8 2
D) o

2) &

3) 5w

4) got
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Ques # :15

Which of the following system objects that are neither files nor directories ?
1) Semaphore

2) Monitor

3) Both Semaphore and Monitor

4) None of these

ot A O S0 RAEeH 3iteatae a1 Y B & &7 &) SEFe{l ?
D) dramer

2) Aifere

3) AR 3 Afee a=t

g & 8

Ques # :16

Solution to critical section problem is ?

1) Mutual exclusion , Progress, Bounded waiting
2) Mutual exclusion , Progress, Race Condition

3) Bounded Waiting, Progress, Unbounded Buffer
4) Race Condition, Unbounded buffer, Progress

fhfewhe Qe AATAT HFI3UT & -

D) Feg3rer voraareeeT , WO, 91333 afear
2) FETg3e TR , MO, 3 o

3) S1372s Afdar, W , 3TaI3-aS ah

) g AT, HAIEE TH, T

Ques # :17

A successful "' fork " system call in unix return to child process.
1) PID (Parent)

2)0

3)1

4) NULL

Ifraa &Y T Wh " Bieh " AT Fer 3o N/ Y atect s

D @ s o)
2)0
3) 1

4) &l (NULL )

Ques # :18

Number of arguments specified in a Unix command line argument is identified by :

1) $$

2) $?

3) s

4)  s#

IfFw HATS et AT A Afése smedHe i v fr ggarT ekt B
1) $$
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2) $2
3) $*
4) S$#
Ques # :19

Which among the following is language processor ?
1) Assembler

2) Compiler

3) Interpreter

4) All of these

AT A A Fla g drasr AW R 2
D srFeerx

2) HFaIEer

3) geqex

DA g

Ques # :20

RAID stands for ?

1) Redundant array of inexpensive disks
2) Relative array of inexpensive disks

3) Redundant array of inter-related disks
4) Relative array of inter-related disks

RAID ¥ FTATCIT § 2

1) Rewde 0¥ 377 saveraife Rena
2) Raifea 0 3T savaayiay ey
3) Rewse WY 3iT seet-Roles fowrd
4) Raifea 0¥ 3776 geet-Roes Berd

Ques # :21

Which of the statement is not true related to threads ?

1) Thread is a light weight process.

2) User level threads are managed by thread library

3) Kernel level threads are faster to create and manage than user level threads
4) Thread minimize context switching time

95§ GF AT FlT AT FAT TG AGT & 2

D s wwmamscdciaas

2) goR AT 95, I3 ST A AAT N

3) AT oael U5, TR ael I3 T ol A IR U9 FAATT g &
1) AT FreFee TN THT H HH FAT &

Ques # :22

Which of the following is not a valid mode of file opening for " open " system call in Unix ?
1) O_RDONLY

2) O_WRONLY

3) O_WRRD

4) O_RDWR
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Ffeea &1 " 3iuet " ¥R Fid & gt 7 e 7 A Flaar vsd @ed FTAIS AU A 2
1) O_RDONLY

2) O_WRONLY

3) O_WRRD

4) O_RDWR

Ques # :23

What is the return type of " write ' system call in Unix ?
1) size_t

2) ssize t

3) int

4) char

Iferea & " write " ¥ Fid #1 Rt ewFIT AT 2
1) size t

2) ssize t

3) int

4) char

Ques # :24

" head " Unix command , when used without an option , displays how many lines of the file ?
1) 3

2) 5

3) 10

4) 100

fer F1$ fawew Rw Ifared 7" head " F#AT3 FH) Bz i frae a3a wafdta #arg 2
1) 3

2) 5

3) 10

4) 100

Ques # :25

What will be the output of the following Unix command - tail - ¢ + 512 filename
1) Copies last 512 bytes from file

2) Copies every byte after skipping 511 bytes

3) Copies last 512 lines from file

4) Copies every line after skipping 511 lines

ﬁmuﬁwmmwwm-taﬂ-wsu filename
D) wrser @ 3nf@&Y 512 drge 1y Hem

2) 511 STSC S BISHT TThT T HTAY HLam

3) wrser @ 3iTAH 512 SISy AT M

4) 511 ST BISHT TThT T AT HIAY HLam

Ques # :26

Which of the following wait is undesirable for a process ?
1) Waiting in ready queue

2) Waiting for input/output

3) Waiting for semaphore

4) Busy waiting
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o T # ¥ FIHET IedaR ( wait ) frdl AW AT aida adi g 2
D) & o7 3 oo (wait)

2) 39T / 3M3TYT ¥ FoATR (wait)

3) AATER & SR (wait)

4 fasir afear

Ques # :27

On a system using fixed partition with sizes 216, 224, 232,
how many bits must the limit register have?

1) 32 Bits
2) 24 bits
3) 16 bits
4) All of these

U+ TOer 3 & ra= 9rehs 1 ST ST & |, o3 3=
216 22¢ o2 ¥ = [T Rifde e & fraar fae 2 ofe 2

) 32 f8e

2) 24 f¥e

3) 16 foe

4) S8 O Tl
Ques # :28

Which is false statement :

1) The dispatcher module gives control to CPU, to process the selected short term scheduler (STS)
2) The dispatcher may invoke during process context switch

3) Dispatch latency , stop one process and start another process

4) The dispatcher is not used in CPU scheduling.

STH U e AT T FYTE 2

D) fwter Arge, CPU 1 0T 3T &, Trfee 3reqenifor eTead ( STS) Ui & &3 & fow
2) fEETR Y e < Tohd &, Tishar 98T Feaa & R

3) FoEta oiEET , Uah UfohaT &t 9 &Y & qad SR 3RS T ¢

4) fSEtER, CPU sy foler ¥ 3UAeT TET e

Ques # :29

The process arrive in a system at the rate of 10 processes/minute and average service time for each job is 3
seconds. What will be the system load ?

) p=05
2) p=3.3
3 p=03
4 p=1

10 VA9 9 Aeie A 7 @ Felt Rrer A Rw s e wilma afdu s s aFs wia s g, ar

R s dsadaT:
1) p=0.5
2) p=3.3
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3) p=0.3
4) p=1
Ques # :30

On a system using non preemptive scheduling , process with expected runtime of 5, 18 , 9,12 are in ready
queue . In what order they should be run to minimize wait time ?

1)5,18,9,12
2)5,9,12,18
3)18,12,9,5
4)18,5,9,12

aAter freadia Aggfaer araia e :1 38 7 F N{w Sew sqafaa @ ema 5, 18,9, 127,

@ ATY | 35 o A 7 T v e e afear ergar =getas 3md 2
1)5,18,9,12

2)5,9,12,18
3)18,12,9,5
4)18,5,9,12
Ques # :31

A software metric that is a measure of the average length of words and sentences in documents is caused -
1) Fan-in

2) Fan-out

3) Cyclomatic Complexity

4) Fog Index

UF AIFEdaT AT I stargpie # rsal aur arat &1 3w aFars F1AF §, FEAard -
D) ez

2) e1-3T3C

3) FrFAARE Flrcatdad

4) BT S5

Ques # :32

Which of the following software process model gives explicit recognition of risk ?
1) Waterfall Model

2) Incremental Development Model

3) Spiral Model

4) Prototyping Model

e & O Flaar AT’ VAT Alse REF 1 TISC IO a1 2
1) giexwier Afger

2) gheied SaagHT AlSd

3) TaTSTel AlSe

4) grererstier Atger

Ques # :33

In software project risk management, accessing the likelihood and consequences of identified risks is called -
1) Risk Identification

2) Risk analysis

3) Risk Planning

4) Risk Monitoring
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HFed Wotae A A yaue & siaeia Rfcea M@ H woraansit aur sRomAY F1 qegiwT
FEATATE ?

D) e 3mgsfefhene=

2) e wfafas

3) e corfaiar

1) NE AT

Ques # :34

COCOMO model stands for ?

1) Common Cost Model

2) Constructive Cost Model

3) Cost Constructive Comprehensive Model
4) Comprehensive Cost Model

COCOMO ATsT § ?

1) sniaret shiee AlSer

2) speeciaed Hiec AlSd

3) sriEe e idea wiFg =g Afge
) e iaga Fiee Alsa

Ques # :35

In context of software testing, which of the following is not a type of user testing ?
1) Performance Testing

2) Alpha Testing

3) Beta Testing

4) Acceptance Testing

HiFedY TR & Feaol 7, M A A Pl geR T T v yaR a1di 3 2
1) ety S

2) 31er efeeaT

3) foer T

1) vergcey efeear

Ques # :36

Which model in system modeling indicate " how software will respond to external event" ?
1) Context Model

2) Data Model

3) Behavior Model

4) Object Model

Rreea AT & Fiaar Atser T8 Iar1ar § fF FFeay HA T8l e 1 yfafFar syem 2
D) firearee Alse

2) grer Al

3) fagfaer Afsel

4) 3ifsarere Alger

Ques # :37
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Which of the following is a functional requirement ?
1) Maintainability

2) Portability

3) Robustness

4) None of these

e & ¥ Fia H v smaTFar g 2
D) A=eafaeher

2) qréfearér

3) Qaeeaw

) gt IS A&

Ques # :38

Which of these is not an element of requirement model ?
1) Behavior element

2) Usage based element

3) Flow oriented element

4) All of these

T 7 @ FlauT TTIF AT ATTT FT dAcca 61 & 2
D fgfaat acca

2) st 3R decd

3) et 3T A

4) gorar & Tl

Ques # :39

Which model of software development is best suited if requirements are frequently changing ?
1) Incremental Model

2) Spiral Model

3) Prototype Model

4) RAD Model

HIFEAT STAYHT FT FITAT ATSA HeTHol WIS HTAIFAT AIMAR J&e BT 8l ?
1) gfigtea 5

2) TS AlSe

3) rerersy Afger

4) ¥z (RAD) Afza

Ques # :40

Which of the following is not a category of maintenance ?
1) Corrective

2) Effective

3) Adaptive

4) Perfective

A A A sl d Ao AT fAragig?
D) fgea
2) ghfdea
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3) geufea
4) WpfFea

Ques # 41

Which of the following is the method of black box testing ?
1) Boundary value analysis

2) Basic path testing

3) Code path testing

4) None of these

A A sl A sdw T eRear M AR 2
1) e doeg TR

2) 9 fes areyr ST

3) &S arer efEEar

Y TR A S T8

Ques # :42

RAD Model is not suitable when -

1) Technical risks are high

2) Testing is not needed

3) Technical risks are high and testing is not needed
4) None of these

RAD HTS eJdhel 7Te1 ¢ ofd -

1) ¢aetener e samer 8t

2) e T SR AT &Y

3) efFaTenel REeh STeT &Y 3R EFeEar i TR A &Y
4) goTor q IS T

Ques # :43

Which of the following is fault base technique?
1) Unit Testing

2) Beta Testing

3) Stress Testing

4) Mutation Testing

et F @ i @ Bree dw LRET dFA1F & 2
) g 2feda

2) drer efeear

3) g efeeaT

4) e i

Ques # :44

Which one is not a system testing ?
1) Deployment testing

2) Stress testing

3) Safety Testing
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4) Security Testing

foeer 7 & Flerelt v e e gt e 2
1) Sreoyage S

2) wra efeea

3) Jurdy e

4) faagRer efecar

Ques # :45

The important concept of W?HH principle is:

1) Project Objective
2) Responsibilities
3) Schedule

4) All of these

WHH g %1 Fgcavur feeyia #ia @ ¢
D gigee sifeaf@ea

2  Eifaiads
Y zaaagdm
Ques # :46

Defect removal efficiency is
1) E
E+D

2)EXD
3) E+D

E
HE—-D

fthere Ragaer SRARATH (DRE) & -
1) E
E+D

2)EXD
3) E+D

E
4$E—-D

Ques # :47

Which of the following is not a decomposition method of software project estimation ?
1) COCOMO model estimation

2) LOC estimation

3) FP estimation

4) All of these

et & @ Flaar FFed’ T TEARAT FT BHRrahee adsr a8 g ?
1) cocoMo #Afser TeérAeeT

2) LOC TE&aereT

3) FP vEEAA
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1) s A Tl

Ques # :48

Which one is not a part of software quality attribute FURPS developed by Hewlett-Packard ?
1) Functionality

2) Portability

3) Reliability

4) Supportability

et 7 & a7 1 v WivedT FAIfAd vfgege FURPS &1 4191 7€ § 51 Y §acie-IahTS g@rT a=iram
IATE ?

D) drereratferdy

2) aréfeerdy

3) Ramafeerd

4) gaefeadr

Ques # :49

Which of the following activities is not involved in configuration management of a software system product ?
1) Change Management
2) Version Management
3) Release Management
4) Quality Management

T 3 @ Flaeh Bre \iredt Riven Wisee & FergaRee e & afrea g d 2
D 345 st

2) e Aot

3) vt Fersrte

4) Farferdy Aseic

Ques # :50

UML stands for ?

1) Uniform Modeling Language
2) Unified Modeling Language
3) Universal Modeling Language
4) None of these

UML HTA9T 8 2
D) gfarwme Avsfer dras
2) gfAmres AT dadst
3) gfeawier Atsfor daasr
D g @y 8 e

Ques # :51

A data store in DFD represents ?
1) Sequential file

2) Disk store

3) Repository of data

4) Random access memory

14/44



24/06/2016 College Lecturer Exam - Computer-Science-|

DFD # 37T T gaTdar g 2
D) faadfRrre wige

2) faeh TR

3) RafSrery 3T srer

4) Yom vrdg AR

Ques # :52

Data flow in DFD must have : A ) An arrow showing direction of flow of data. B ) A meaningful name. C ) A
label such as : xyz D ) no arrow as they are confusing

1) A and B
2)Aand C
3)Band D
4) Cand D

DFD ¥ STeT ¥l & UTH 81T 1fg ¢ : A) Teh T SAY STeT Fell ¥ e g2t &1 8% B) v 3rdfqut a1 ©)
W@ﬂﬂ'ﬁﬁ':xyzD)aﬁ?WHﬁmﬁ'mm%

D AwaB

2)ATEC

3)BwdaD

Y cudD

Ques # :53

Statement 1 : Corrective maintenance is universally used to refer to maintenance for fault repair. Statement 2
: Perfective Maintenance sometimes means perfecting the software by implementing new requirement. Which
of the following is correct ?

1) Statement 1 is true and Statement 2 is false
2) Statement 1 is false and Statement 2 is true
3) Statement 1 is true and Statement 2 is true

4) Statement 1 is false and Statement 2 is false

FYA 1 : GURTCHS STHT, AENAF T & Tedll F AFAT T & 0 9gFd Fa1 S1ar ¢ | w9t
2 : WHFIT SWHT FT A F3 F3 T HTTRTFAT Y AN FT FFEIR F 3cadl F A § | 33
FFTATENE ?

D&t 1 a@1 g 3R w2 70 &

2) ey 1 ITeld & 3R FoF 2 T

3) wuet | TR E AR FUT 2 TEE

4) T | A & 3N FUT 2 TAT

Ques # :54

Software feasibility study is based on :

1) Business and resource constraint only

2) Scope , business constraint only

3) Scope, technology, time constraint only

4) Technology, finance, time , resource constraint only

ArFeaT frafeerdl Tedt arenRa & -
D) raer fosrore va R egee
2) ael TR, ST heeee
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3) Frad THIY, SFATGTS, TEH hEeeT
4) Frael ST, BISeTd, TSH , RAI shecee

Ques # :55

The degree of interaction between two modules is known as :
1) Cohesion

2) Coupling

3) Strength

4) All of these

al A3 & ALY 3l 3T ST FgaTar g ?
1 e

2) spafefar

3) g

1) s & |l

Ques # :56

According to Brooks, if n is the number of programmers in a project team then number of communication
path are :

D nm-1)
2

2) log,n

3)n(n+1)
2

4) 2"

T & AR, I distae &9 & n e § @t Frgfadere arer gt -
D nn-1)
2
2) log,n
3)n(n+ 1)

2
4) 22

Ques # :57

Which is not a size metric ?
1) Program Length

2) Cyclomatic Complexity
3) LOC ( Line of Code )

4) FP ( Function Point )

A slaa asaT ARE adi ¢ 2
D) ggma ooy

2) g SlFcaaEer

3) LOC (oISt 3iTh &g

4) FP ( thererel Uise)

Ques # :58
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Effort is measured in terms of :
1) Person-months

2) Persons

3) Rupees

4) Months

THE ATIT SATAT § -
D) qofe-warg

2) w="

3) sdraT

1) Fog

Ques # :59

What is prototype in Prototype Model ?
1) Mini-model of existing system

2) Mini-model of proposed system

3) Working model of existing system

4) None of these

RIS Y Alsd A WSy #4182
D sitser fareea @1 fsh #Atser
2) gEafad faeeH & & Afger
3) Ftster faEeH @1 afdhar Arser
Y gt & rg QT

Ques # :60

SRS stands for :

1) Software Requirement Specification
2) Software Requirement Standard

3) System Requirement Standard

4) Software Requirement Set

SRS &7 a9 :

1) gireay Reraratdiee safaftheereT
2) HiFeaT ReFaratdiee €&uss

3) feeH NeFarRA+<c €vgs

4) giFea ReFaradiee U

Ques # :61

Cryptanalysis is :

1) Process of break to cipher text message to obtain plain text message
2) Process of increase the speed

3) Process of encrypt the data

4) None of these

fFeeEdRT e
1) HISHT 2arEe FUST Y o T Colel SaFEE AT TTCd et &7 AT
2) Ttz gt T a0

3) g1eT 1 ufeshte et T Qe
4
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ST I TeT

Ques # :62

DES stands for : ( In reference to cryptography )
1) Digital Encryption Standard

2) Digital Encryption Set

3) Data Encoding Scheme

4) Data Encryption Standard

DES ¥ drcqd § : (reaiamdY & weest )
D) fafreer uicspoert T¢uss

2) grer vfepeere AT

3) 21eT Ul TR

4) g1eT ufeshereT Teuss

Ques # :63

" Man in the middle attack " is also known as : ( In reference of Diffie-Hellman key exchange algorithm )
1) Brute Force attack

2) Bucket bridge attack

3) Plaint text attack

4) None of these

" AT s g AR 3T " A H A fFw A1 T oY AT AT ¢ (B FAAA Pr-vEFHIST
HeMRYA & Fegol )

D e w1 31t

2) gohe 3ot 3¢

3) colef earee e

4) goTar q IS A&

Ques # :64

Vernam cipher is also called :
1) Rail fence technique

2) Casear Cipher

3) One Time pad

4) Homophonic cipher

IATH ISR T A A Fg A T st ST Sran @ 2
D Y& g efame

2) ol T G

3) aA e U3

4) QAT FTEE

Ques # :65

In IDEA algorithm , the key size is :
1) 64 bit

2) 128 bit

3) 256 bit
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4) 56 bit

IDEA 3emMRIA &, AT el ¢ -
1) 64 (bit) fae

2) 128 (bit) foe

3) 256 (bit) foe

4) 56 (bit) foe

Ques # :66

Who will increase the redundancy of plain text ?
1) Confusion

2) Diffusion

3) Both confusion and diffusion

4) None of these

faeT & @ Pl o Taee Y ReasHd A qearg ?
R Sl

2) Rorgtet

) Fremrggrel a et al

4) goT A 1S T

Ques # :67

To verify a digital signature, we need the

1) Sender's private -key
2) Sender's public-key

3) Receiver's private -key
4) Receiver's public-key

fefSree TR ) yAI0T s & AT g s gl
) gerdrosdedr

2) st fraicaTes-ar

3) e i yrsde-dr

1) REaT $r afeae-hr

Ques # :68

In RSA algorithm, P =7 and Q = 17, What is the value of N, E (Public Key), D (Private Key) respectively
1)119,3,77
2)119,3,67
3)129,5,77
4119,5,77

RSA 3eMRAAHF, P =779 Q = 17 AN, E (ufeea-#T) va D (Wrsde-#r ) $ do Faer: gheft 2
1)119,3,77
2)119,3,67
3)129,5,77
$H119,5,77

Ques # :69

Which of the following service is supported by PGP ( Pretty Good Privacy ) ?
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1) Confidentiality

2) e-Mail Compatibility
3) Compression

4) All of these

et 3 & et dar A PGP (RN 373 wrEAE ) wHST FRaT R -
D) spifewsfasriered

2) &Rer g feerdr

3) FEvRre

1 sAn T el

Ques # :70

Which one of the following is not a Denial of Service (DoS) atatck ?
1) Tear drop attack

2) Smurf attack

3) SYNFlood Attack

4) Code Red

goT 7 @ i IT BT 3TF AT (DoS) 3¢F AT R 2
D) foaw g1 3rden

2) TR 3eF

3) SYNWaIE 31¢h

DaElE

Ques # :71

In tunnel mode, IP Sec protect :
1) Entire packet

2) IP header

3) IP Payload

4) None of these

T A A, TSN, [ YA FIAT S :
D 9 43

2) 3m$. Y. g=T

3) 3g. o, Yol

%) 5o O 1S TE

Ques # :72

When one entity pretend to be a another entity, the attack is known as :
1) Replay attack

2) Modification

3) Denial of Service

4) Masquerade

9% 7P FIT HgaTdl ¢ [THH T TRE 379e 3T Y 37 Tfed) @1 FT grar FIAT & 2
D frear 3rden

2) ATfefhanereT

3) feaArae 3iTe afdg

1) Hepls
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Ques # :73

Baud is :

1) Number of bits transmitted per unit time
2) Number of bytes transmitted per unit time
3) Number of signal changes per second

4) None of these

arsd:

D FeR 3ifw facw grafaes ) gfae s
2) FieR 3T FTgeH GRS W AT TSH
3) R 3T fRTeTer doF W Ahs

D gy RS AL

Ques # :74

Network uses star topology if :

1) All computer are arranged in local loop

2) All computers are attached to a central point

3) All computers are attached to a single long cable

4) All computers are attached to multiple hierarchical cable

ATash TR A9TeTsl FT 3TN FAT ¢ IS
1) 8t shegex eerer o[T # coafeurd &

2) |3t LT U W AT A S &

3) gafr YN Teh SIFalT haiel W S 8T

4) a3t eger Aeded geffepd e A8l

Ques # :75

CIDR stands for :

1) Classified Internet Domain Routing
2) Classless Inter Domain Routing

3) Classless Internet Domain Routing
4) Classified Inter Domain Routing

CIDR § acad ¢

D) Feonfawiss geetaie S8 Ui
2) FTHIH SeT ST USTear

3) FIT I SeTeie AT ST e

) FTABISS SeeT AT TFTear

Ques # :76

In cycle redundancy check, CRC is :
1) Divisor

2) Quotient

3) Dividend

4) Remainder

asfea Readdy afer &, @ & -
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D) fasrreres (fRamgen)
2) HETH (1<)
3) srer (Bfags)
4) Quther (RATET)

Ques # :77

Loss in signal power as light travel down the fiber is called -
1) Attenuation

2) Propagation

3) Scattering

4) Interruption

YT ST BT § I[eaT o ) fAaeter & qia 7 g1y F FgT S 3 2
D wdegues

2) grqrerersT

3) ghefiar

4) Seqaere

Ques # :78

Six channel, each with a 100 KHz bandwidth are to be multiplexed together , what is the minimum bandwidth
of the link if there is need for a guard band of 10 KHz between to channels to prevent interference

1) 600 KHz
2) 610 KHz
3) 650 KHz
4) 590 KHz

100 KHz 43339 e &: dad Y Acdicaads Fia & fav e Y ~gea# dsfagy war ghf snr

detet & i gFARIT AFa ¥ 10 KHz & 1S 5 Y aeqFar s

1) 600 KHz
2) 610 KHz
3) 650 KHz
4) 590 KHz

Ques # :79

In IPv4 packet, the value of HLEN is (1000),. How many
bytes of "options” are being carried by this packet ?

1) 20 byte
2) 24 byte
3) 32 byte
4) 64 byte

IPv4 e # fg HLEN & dw (1000), &, @ 3%
the Tohder S5 &7 "3 AT H o STwEm ?

1) 20 STSC
2) 24 ST
3) 32 918C
4) 64 SIS
Ques # :80
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Four 1 KbPS connections are multiplexed together , if unit is 1 bit , find the duration of a frame -
1) 250 us

2)1ms

3)1ps

4) 250ms

1 KbPS F IR FA40T U WY Acccaaws &y vy, afy gfae 1 e @ ar i it srafor =

gl ?

1) 250 us
2) 1ms

3) 1us

4) 250ms

Ques # :81

In OSI Model match the following : A) Physical Layer 1) Dialog control & synchronization B) Data Link layer
2) Synchronization of bits and transmission mode C) Session layer 3) Translation and Compression D)
Presentation Layer 4) Error Control and Framing

1)A-2,B-4,C-1,D-3
2)A-1,B-3,C-2,D-4
3)A-3,B-1,C-4,D-=2
4)A-4,B-2,C-3,D-1

OSI ATSd # fAFeT F1 FH T : A) FToFer AIT 1) SIATT Foela vd RFABAAA B) 31eT fw
AW 2) RAFATZAAA HTH eH, TARAF AS C) VAT AW 3) TAAAA TG FFAUA D) Y2
AT 4) TR FUEIA TF iR

1) A-2,B-4,C-1,D-3

2) A-1,B-3,C-2,D-4

3) A-3,B-1,C-4,D-2

4) A-4,B-2,C-3,D-1

Ques # :82

From which network device, the frame from one LAN can be transmitted to another LAN ?
1) Modem

2) Router

3) Bridge

4) Repeater

e Aead Barsw garT frdY 53 1 v AT (LAN) ¥ gAY AT (LAN) F SST S g 2
1) pfam

2) T3

3)133

4) Rdrex

Ques # :83

What is the address size of IPv6 ?
1) 32 bit

2) 128 bit

3) 256 bit

4) 512 bit
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IPv6 H U3H Y A5 FATRIAT & 2
D32 fae
2) 128 fae
3) 256 fare
4512 f9e

Ques # :84

In which layer of OSI model does the repeater work ?
1) Physical Layer

2) Data Link Layer

3) Network layer

4) Transport Layer

RdieT OSI Alse i fFd WA W FTA FIATE ?
D) fpforere =a

2) grer foidh IR

3) Aead Wa

4) grEde Ra

Ques # :85

In which switching each packet of a message follow the same path from sender to receiver ?
1) Circuit Switching

2) Message switching

3) Virtual approach to packet switch

4) Datagram approach to packet switching

e FeafRier gomel &, Y AR F & Y ! W5 & RAlaR a&F 1 & T GART 97 &1 3939097
fFaTamarg 2

1) gfée feafiar

2) et Reaf=rar

3)a§m0tnﬂ§ﬁé?dfmﬁﬁ

4) greTaa T ¢ e Reafia

Ques # :86

"Count to infinity " , problem occurs in :
1) Distance Vector Routing

2) Link State routing

3) Multicast routing

4) Hierarchical Routing

" T ¢ SRR " e e d
D setgager uzféar d

2) foien T USTear &

3) AedrerEe TS &

1) RN T ST H

Ques # :87

24/44



24/06/2016 College Lecturer Exam - Computer-Science-|

In distance vector routing algorithm , each router maintain a separate routing table with a following entries :

1) Preferred input line, estimated time

2) Preferred input line, estimated distance
3) Preferred output line, estimated time

4) Preferred output line , estimated distance

BEEH daex TS 3enRUA A YAF TFeX T AT TS o T {@ar ¢ oad et
YAt gt g :

1) HRAATAT o1 AT, AT TS H

2) siftrfaa geiqe arse, pfad fieew

3)Hﬁﬂﬁﬁww,34ﬂﬂﬁﬁm

4) siftrTfad 3mseye e, seTAfad Eew

Ques # :88

Which of following field in IPv4 datagram is not related with fragmentation ?
1) Flag

2) Offset

3) TOS

4) Identifier

forT & @ FIAT IPv4 STETITH FT Hies, IR ¥ FraOd A8 § ?
1) gaar

2) 3NFde

3 &y

4) gsiewR

Ques # :89

DNS Client is also known as :
1) DNS Updater

2) DNS resolver

3) DNS handler

4) None of these

DNS FdE¢ I8 M Fgarar g 2
1) DNS 3198

2) DNS R&eaR

3) DNS ¥5eR

4) 3o @ IS G

Ques # :90

The header length of IPv6 datagram is :
1) 10 byte
2) 20 byte
3) 40 byte
4) 60 byte

IPv6 STETIITH F g8V Y oTFa1s gl ¢ 2
D 109m8e
2) 20 ST8C
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3) 40 sT8T
4) 60 STSC

Ques # 91

Choose a false statement about Von Newmann's stored program computer architecture:
1) Program and data are stored in same address space in main memory

2) Allow self modifying programs

3) Programs and data are stored in secondary memory

4) Set of control signal is same for instruction and data fetch.

it AT F " TS W MFHSFR " F aR 7 AT FYT AT :
D) gramar @ ster 7 28 & e & G@e teE WE d TR Ha e
2) o ASHIZT A IeTAd &

3) GYare g SreT Yehg! AN F TR fFT e

4) Srgarere g 31eT tha & fT TATT HUgiel RAveTer T AT grar §

Ques # :92

Let a computer has 512 KB of main memory having one byte per word . If all the words of memory are
operational then there are minimum bits in

1) 18, Data bus
2) 19, Data bus
3) 18, Address bus
4) 19 , Address bus

HIAT TF FOgel A A AARY 512 KB § TUT IAF G381 18 F1 ¢ | I AN & waft a3 Framelier @
A FOIE A FATH fe$r gl

D 18, greraw

2) 19, STeT & |

3) 18, vgH

4 19, vea S

Ques # :93

What is the value of IEEE 754 single precision floating point number represent by binary bit string given
below: 0100 0000 0110 0000 0000 0000 0000 0000

1) 3.5
2) 3.5
3) 4.8
4) 4.8

& =it argerdl fore S@aT Rt e IEEE 754 Tahel Rf&ere wenféer aise dear 1A § : 0100
0000 0110 0000 0000 0000 0000 0000

1) 3.5

2) 3.5

3) 4.8

4) -4.8

Ques # :94

An n bit binary number , represented in sign-magnitude representation has a range ?
D(2n-1) to +(2"-1)

2)
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(21-1) to +(2™1=1)
3) -20to + (2" - 1)
-2 to+(20-1)

TS ATeIcgs T H vefiia o n e F asaft A Hr g et s 2
D 2" - 1) T +2" 1)

2) 2" 1) F 2" A1)

3) 2" & +(2" A1)

Y 2" g 2™ -

Ques # :95

In 4 bit two's (2's) complement notation , addition of +3 and -4 result into :
1) 1001
2) 1010
3) 1100
4) 1111

4 T 2's FIFCAACT T H 43 TF -4 FT T FIT W INUMH qIeq garg 2
1) 1001
2) 1010
3) 1100
4) 1111

Ques # :96

In 5 bit sign-magnitude representation result of 11111 + 00111 will be :
1) 100110

2) 00111

3) 11000

4) 10110

5 fe wr$er Aereliegs ® F 11111 + 00111 F71 IROTTH gron 2
1) 100110

2) 00111

3) 11000

4) 10110

Ques # :97

Simplified sum of product form of Boolean expression
(P+Q+R).(P+Q+R).(P+Q+R)is:

D (P.Q+R)
2) (P.Q+R)
3) (P+Q.R)
Y (P+Q.R)

gferael §F (P+Q+R).(P+Q+R).(P+Q+R]
FT T GH 3% Yisac &9 b

1) (P.Q+R)

2) (P.Q+R)
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3) (P+Q.R)
4) (P+Q.R)
Ques # :98

let F1=(A+B).(A'+B')andF.= A+AB+ AB
Choose a correct statement:

) F1=0 and F;=0

2) F1=0 and F;=1

3) Fi=1 and Fg =0

4 F1=1 and F;=1

AAT F4=(A+B). (A'+B' )dUT F:= A+AB+AB

Tl FAA A

1) F1=0 TIH Fy=0
2) F4=0 TIA Fy=1
3) Fi=1 TwIA F:=0
4y F1=1 TIA F;=1

Ques # :99

Giventhatx +y =y, Fy=xy' + vy, Fa=x"+yand F3 = xy/,
then value of F4y Fs and F5 are respectively:

1) 0,1,0
2) 1,0,0
3) 0,1,1
4) 1,0,1

9ed X+y =y, Fy=xy' +Vy, Fo=X+yTUTF3 = xy',
% T Fy FoUE F3 &7 AT F8T: § -

1) 0,1,0
2) 1,0,0
3) 0,1,1
4) 1,0,1
Ques # :100

if X,y,z are input variables of full adder-output sum (S) and carry ( C) are given by :
DS=xy+(x@By)zandC=xPyDz
2)S=(x+y)@zandC=xy+y Pz
S=xPyPBzandC=xy+(xBvy)z
VS=xPhy+zandC=xPydz

I x,y,2 T VST & FIYE T ¢ A A13EYE FH (S) AT H ( C) FAFargar gher
) S=xy+(x@®Y)zTaC=xPDyDz
2)S=(x+y)PzTaC=xy+ydDz

3) S=x@yPzTIC=xy+(xDy)z
HS=xPy+zTE@C=xPyPz

Ques # :101

Consider the following properties for combinational digital circuit ( C) and sequential digital circuit (S) : I -
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QOutput is entirely dependent on current input. II - Implemented using flip-flop III - Output is determined by
sequence of inputs . Which of the following is valid match :

1)C-1,MandS-1II
2)C-Tland S -1

3)C-1L, I and S-1
4)C-TandS - ILII

PfFaaeTa Bfoee afFe (€ ) aur RFafenre Bioee afFew (s ) F T qorEf w e =
: 1 - HT3TYE YUI: TAAT 3oTqe IR MR & | 11 - FFerT walier & 9aier § S A1 @ | 111 - H13eqe
gAY A AT W IR ¢ | g AT R afr S g 2

De-puwars-

2)C-MuaAS-1

3 C I MTaAS-1

A C-1TaA S - LI

Ques # :102

Which of the following statement is not true about J-K flip flop ?

1) It behaves like S-R flip flop when both J & K are not 1 simultaneously
2) It behaves like T Flip flop when J =K =1

3) It behaves like D Flip flop when J=K =1

4) When J =K =0, the state remain unchanged on a clock signal

J-K fFeIT Feliq & IR F 90T FIT AT TS & 2

1) I1g S-R TFeTT FellT T aXE I T & 579 J F K aleit |mer 1 AT &)
D T FIIFAT H e FRIIATEFTI = K= 1%

3 gg D T railT R g SR aRATE FT I =K =1 &

4) 9 J = K = 0 g1 A Felieh Q9eTol W sHH T JaRafda wdr &

Ques # :103

The minimum number of D flip flop needed to design a mod-264 counter is :
1) 8

2) 9

3) 264

4) 265

T AS-264 F13eX FFAST FIA & o fohaar D TFaT FaATq Y 3maegmar g1el
1) 8

2) 9

3) 264

4) 265

Ques # :104

In addressing mode the operands are specified within the definition of instruction such as "
complement accumulator " while in addressing mode operands are explicitly specified within
the address field of instruction itself.

1) Implied , Immediate
2) Direct , Immediate
3) Immediate , Direct
4) Direct, Indirect

w3 fAeT A3 7 3NIEH, SeeFrer i aRemer AR & » FircAT g " A
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fafea wa ¢ safew w3 Al 7 3w, fiY @ s F esw AT A € forw
Ruamag |
D) srvargs , sifsde
2) R, sHIfEAT
3) sAfede , sREe
1) sRFe , SASRNEC

Ques # :105

" Effective Address = address part of instruction + content of CPU register " is applicable for which pair of
addressing modes given below :

1) Register Indirect, Relative
2) Direct, Relative

3) Indirect , Indexed

4) Relative, Indexed

" g TFCT TIW = $ECFUT 1 T3H AT + W7, T F1 AT  TreT H & e R A g
W AR AT S ?

1) tforeet setsee , Raifea

2) srREe, Raifea

3) seEree , S39¢s

4) Rafea, s39es

Ques # :106

Consider single accumulator (SA) , general register (GR) and stack (S) is type of CPU organization. Which of
the following specifies valid number of address fields in a computational type of instruction of each
organization ?

1)SA-1,GR-20r3,S-0

2)SA-20r3,GR-1,S-0

3)SA-20or3,GR-1,S5-1

4)SA-0,GR-1,S-2o0r3

CPU 3rfamgsrers & faffiest qarrt Sl ferer 3rgaex (SA) , Feier WAF (GR) T4T 8F (S) N
AR Y | 7T J F Sl vA+ 3Rl F T 0T GFaH sTeFrd H 13 Hies Hr 3T
wEar T g 2

1)SA-1,GR-2373,S-0

2)SA-23TT3,GR-1,S-0

3)SA-2a13,GR-1,S-1

4 SA-0,GR-1,S-2313

Ques # :107

Which of the following is not a characteristics of reduced instruction set ( RISC ) ?
1) Hardwired control

2) Relatively few addressing modes

3) Memory access limited to load and store

4) Variable length instruction formats

foreer & & wlaar " RS STFAT AT FTYET (RISC) " FT UM 731 8 2
D) gréaras sucrar

2)
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delellcHs &9 J UTHeT Agd T e T
3) Shaer A3 g TR ds AT Al veaw
4) T TFeTS o ST il

Ques # :108

Fetch Operands (FO) , Fetch Instruction (FI), Execute (E) calculate effective address (EA), Decode Instruction
(DI) and Store result (SR) are steps taken by CPU control to execute an instruction . Which of the following
specifies a valid sequence of these steps :

HEA—Fl—-DI—-FO —-E — SR
2) EA—-FO —-Fl —-DlI —-E — SR
3)FI-DI—EA —-FQO -E — SR
4Dl -—EA —-FO —-Fl —-E — SR

CPU VSIS GaRT U FECHAA &I TFHIFIE X & foe faesr w1 fFar o €, & 3T (FO),
& SECHAA (FI) , TFHIFE (E), SHTFCT T3H $Y 07T (EA), IS $EeFere (D) 41 ¥R Raree
(SR) | AT A g Pl sa st F3RTFA R AR 2

1)EA— FI -DI —-FO - E — SR
2) EA—- FO —=Fl—=DlI—-E — SR

3) FI- DI -EA —-F0O -E — SR
4HDI—-EA—-FO —=-Fl —-E — SR

Ques # :109

Considering equal processing time for each segment, speed - up S achieved by a K segment instruction pipeline
operating on a straight sequence of N instruction is given by :

1) . _ K(N-K)
" (K+N-1)
2) s =ﬂ
KN
3) 4 _ K(N+1)
_{K+1}N
4) . _ KN
T (K+N—-1)

UF K HITAC STCHUT TSI Uah N SFCaIT 1 Al s[@et I R § | $6% g@rT e F91s
Y S I Y AF AAT FT N A AT g Y, AT AT AHATR :

1) S = K(N-K)
(K+N-1)

2) 5 =M

KN
3) » - K(N+1)
S - -

(K+1)N

4) - KN
(K+N—-1)

Ques # :110

Which of the following type of Data Hazard in pipelined processor is harmless hazard?
1) Read after Write (RAW)

2) Read after Read (RAR)

3) Write after Write (WAW)

4) Write after Read (WAR)
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et & @ FIeT A7 IIST ATSeS WEE H 1T §ATE F1 U T § A JHAAST AT ¢ ?
D @5 3mrex e (RAW)

2) {15 3 U5 (RAR)

3) qée 3T TSE (WAW)

4) qge 3T U5 (WAR)

Ques # :111

Choose a true statement for memory-mapped 1/O system :

1) It uses two separate buses for memory and [/O .

2) It uses one common bus for memory and I/O but have separate control line of each .
3) It uses common bus for memory and I/O with common control lines.

4) It uses distinct instruction for I/O transfer and memory transfer operations.

AR Acg 1/0 sqaEyT F AT a7 FYaT 99

D) saat A8 gar 1/0 & TT & 37eTeT 31efeT 58T T AT gl

2) 38e AARY AT 1O F ForT U & S U] T 3ol HUCIS TS T T4 gl §
3) gEa AARY FAT VO & TIT Ueh &1 5 UG Ueh HTA Ul olSeT &hT FANT giell &

4) 38 1O T AT HARY THTR & T e Jeues SEarret &1 T giar §

Ques # :112

In processor P, non preemptive priority interrupts 4,7 ,1,3,0, 2, 6 arrive sequentially (low number high
priority) . If when one interrupt is being handled exactly two more interrupts arrive. What is order of these
interrupts handled by P :

)4,7,1,3,0,2,6
2)4,1,3,0,2,6,7
3)0,1,2,3,4,6,7
44,1,0,2,3,6,7

2 2

b b b

T TR P # Al Rreegfed waRé saeeq 4,7, 1,3,0 ,2, 6 77 & 31 § (BIeT e a8 IR
) afg v gexoe i Fsforer & ghrer i ar gete 31T 3 § af TIET P g@RT $1 e F) §5d e

Ques # :113

Let in a hard disk organization if a disk spins at 10* rotation/minute

and there are 1000 sectors/track, whatis rotational average
latency and transfertime of a sector for the disk.

1) 3ms, 6 us
2) 3 Hs, 6 s
3) 6 us, 3ms
4) 6 ms, 6 Us

=T UF B e smifasaye F Bww 10° seewfiee fr @
¥ gAdr § aur sad 1000 dFe/eF ¢ | 59 B i e
g e gur e JFeX F U oeaw eIsH =T g ?
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1) 3ms, 6 s
2) 3 US , 6 Us
3) 6 us , 3 ms
4) 6 ms, 6 Js
Ques # :114

Which of the following is not a valid bus arbitration policy used to decide which device may use the bus at a
given point of time ?

1) Daisy chain method

2) Independent request and grant method

3) Polling Method

4) DMA control method

ﬁm##m,wmgmwmmwmmm%ﬁmmmw
i ot sgi & 2

D e S s

2) $fadie Redree oot aife oS

3) qifeier AYE

4) & TH.U. FHUTT AYS

Ques # :115

In a memory hierarchy access time , hit ratio pairs for cache, main and virtual memory are given by (Sns, 80
%) , (100 ns , 99.5 %) and (10ms , 100 %) respectively. The closest value of average access time of hiearchy is

1) 10032 ns
2) 10024 ns
3) 10008 ns
4) 10064 ns

TF AART AT A H2, AT 74T aG3rer AR F fAT vdw e va e R 71 71 wargan (
Sns, 80 %) , (100 ns ,99.5 % ) TT (10 ms , 100 % ) & | AAN TR Y valst AT <5H & GHIIaH

AR ?

1) 10032 ns
2) 10024 ns
3) 10008 ns
4) 10064 ns

Ques # :116

Choose a true statement :

1) SRAM bit cell uses a capacitor and a transistor

2) DRAM bit cell uses two inverters and two transistors
3) SRAMs are faster than DRAMs

4) DRAM bit cell uses two capacitors and one transistor.

WW@:

1) SRAM fore &er & vep $a1f@ieT g e giforeed & 3uAeT gar &
2) DRAM fae &l # & Seadqq auUT &Y giforeetd &1 3T T &
3) SRAMs , DRAMs T Jefell # oot g1l §

4) DRAM e Tt # &7 Tl vd U Siforeey &1 3qAeT g ar g
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Ques # :117

If FD denotes hardware that fetches and decode instructions then, which of the following best defines data
path of processor?

1) FD + Secondary Memory + Primary Memory
2) FD + ALU + Register File

3) FD+ ALU + CU

4) FD + ALU + CU + Register File

If 9 FTSAW Y AT A T T BFls FATE, FD IRT G211 I A faest & @ oy I vaww
& STeT 9T Y Hafeds aismaT g 2
) FD + Qg A + grsady ey

2) FD + ALU + {orEey B
3) FD+ ALU + CU

4) FD + ALU + CU + 3orEey Brgdl

Ques # :118

is not included in an instruction cycle of computer processor.
1) Fetch and decode instruction

2) Handle an interrupt

3) Calculate effective address and fetch data

4) Execute instruction and store results

HYET NAET & ST ATSThel T AT 781 ¢ 2
1) Secareret &) % g T3S e

2) geqoe Y ESoT el

3) gihfdea TS I ITUTEAT YT & STET thel el

4) Srgareret Y THRNFIE FIEAT T TROMAT Y TR FAT

Ques # :119

A 4 bit combinational circuit " shifter " to implement left and right shift operations on 4 bit number may be
designed using :

1) Four 2 - to - 4 decoders
2) Two 3 - to - 8 decoders
3) Four 2 - to - 1 multiplexers
4) Two 4 - to 1 - multiplexers

TF 4 9 797 I A% T TSe FAFE 3T FI aTe 4 e FifFraaeaa gfbe " Rver " Fea &
YT & AT SATATE 2

Dar2-g- 4w

2) @3- -8 By

3 IR 2 - T - | TR

D ar4-g- 1 AcOcaTiy

Ques # :120

In context of computer system architecture a stack is :
1) Reserved RAM address space

2) Reserved ROM address space

3) Reserved 1/0 address space

4) A list of instruction
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FogeT AveA TR Faaft A VT2
D @ RAM) t28 €99 # 3RET e
2) QH (ROM) TZH T & IR T2
3) Yo TgH T # IRET €=
) SEcarareT T Ueh foree

Ques # :121

Considerthe binary search tree T given below:

Ifroot of T is deleted it may be replaced by any one of:

1) 30,26
2) 15,38
3) 18,26
4) 8,38

sy fEU a0 aset 59 & T ) fduR &
<> (s )
:
<>

e & T & & & Belle & &d & df 59 U T A

H et oft v & Scor &7 GFar &

1) 30,26
2) 15,38
3) 18,26
4) 8,38

Ques # :122
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Let A,B,C,X,Y,Z are positive integer such that A< X <B <Y <C < Z. If preorder traversal of a binary
search tree T is given by Y X A B Z C then its post order traversal will be :

1)ABCXZY
2)ABXCZY
3)ABZYCX
4H)ABYZCX

AT A,B,C.X,Y,Z e FCIA §TATA<X <B<Y <C<Z¥ | I 0 argarlt & T &1 ot 37T

A Y X A B Z C § aY 3HSHT 91T AT SaHT g9
HNABCXZY
2)ABXCZY
3)ABZYCX
4HABYZCX

Ques # :123

LetA=4,B=3,C=6and D =2 . What is value of postfix expression ABCD/*+ ?
1) 21

2) 13
3) 22
4) 10

I A=4,B=3,C=6and D =2 & Y NTcbaq TFaAemT ABCD/*+ &HT HTeT 11T ?

1) 21
2) 13
3) 22
4) 10
Ques # :124

Valid C statement to allocate 20 bytes to an integer pointer P is :
1) P =(int *) malloc (20) ;

2) *P = (int *) malloc (20) ;

3) P =(int * malloc) * 20;

4) &P = (int *) malloc (20) ;

UF 3freart 9igeT P #Y 20 A1 TAIFE FI & [T 3qJFd C FeeAT S ?
1) P = (int *) malloc (20) ;

2) *P = (int *) malloc (20) ;

3) P = (int * malloc) * 20;

4) &P = (int *) malloc (20) ;

Ques # :125

Choose a valid statement to insert a node PTR into a queue pointed by FRONT and REAR pointers ?
1) REAR — next=PTR ; REAR = PTR;

2) REAR — next=PTR ; PTR = REAR;

3) FRONT — next = PTR ; PTR = FRONT;

4) FRONT — next = PTR ; FRONT = PTR;

9i$eX FRONT @ REAR ¥ UIS¢8 U& § # 4T 1S PTR $+0¢ H3a1 & fov 39gaa Reede g ?
1) REAR — next = PTR ; REAR = PTR;

2) REAR — next=PTR : PTR = REAR;

3) FRONT — next= PTR ; PTR = FRONT;

4) FRONT — next = PTR : FRONT = PTR;
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Ques # :126

A binary search tree T was constructed from an ordered
list of numbers. If T is as given below the listis

Vs

CIDIRCED
<

1) 30,20,52,25,24,22,18,28
2) 30,52,25,20,22,24,18,28
3) 30,20,52,25,22,18,24 .28
4) 30,25,28,22,25,18 ,24,20

ARl T TH FET G TF aBAT T & T A7 I |

oy T PR ¥ A Gt g 2
Co D

1) 30,20,52,25,24 22,18 28
2)  30,52,25,20 22 24,18 28
3)  30,20,52,25,22,18 24 28
4)  30,25,28 22 25,18 24 20

Ques # :127

Let a number X denote a Push (X) operation and P denotes POP() operation on stack. What will be sum of
elements of stack after applying following sequence of operations on empty stack : 2 ,22 ,12 ,15,P,P,17,18
,P,P,P23

1) 44

2) 2

3) 25

4) 24

HATT Uh HEAT X & GT Push (X) 94T P, POP() 3TILAT Y 32T § | T WTell T I AT Y
foeT S@el aTet & IS T F HAIA FT AT FATFNN : 2 ,22,12,15,P, P, 17,18, P, PP 23
1) 44
2) 2
3) 25
4) 24
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Ques # :128

Number of edges in an undirected complete graph of 7 vertices is :

1) 20
2) 21
3) 14
4) 28

7m¢wmmwﬁ@mmm?

1) 20
2) 21
3) 14
4) 28
Ques # :129

A singly circular linked list without header node is maintaining pointer to first made (START) and last node
(END). If first node is to be deleted valid statements are :

1) START — NEXT = START ; END = START ;

2) START = START — NEXT ; END = END — NEXT ;

3) END = END — NEXT ; START =END;

4) START = START — NEXT ; END — NEXT = START ;

faeT ¥5T s Y v RTel FFer s fawe 3@ wuwr s (START) @9t 3ifas @ (END) #1

qigey At el &, IR 7 A Befie fmar sren § &Y sugwa wede gt
1) START — NEXT = START ; END = START ;

2) START = START — NEXT : END = END — NEXT

3) END=END — NEXT : START =END;

4) START = START — NEXT ; END — NEXT = START ;

Ques # :130

An AVL tree is called to be in unbalanced stage and requires proper rotation for balancing whenever :
1) Any of its node has balance factor -1 or 1

2) Root has balance factor -1 or 1

3) Any of its node has balance factor -2 or 2

4) Root has balance factor zero

TS AVL @ el T H FEalldl § a1 37§07 e & TN Sugered I 1 Araegehll gl &
q Y :

D) fraly i i T Soig thareT -1 3UaT 1 &Y SIS

2) ¢ +11S ol s thereT -1 3727@T 1 g ST

3) forey off s T Sord thereT -2 3rUaET 2 BT ST

4) w¢ s 1 Joi HeFeX T &Y S

Ques # :131

Consider following C code segment : int x=10, y=5 ; while (x>0) { x-- ; y-- ; if (y>0) continue ; printf( "India");
if (y == -3) break ; } How many times India will be displayed ?

1) 4

2) 10

3) 5

4) 6

fasT C 15 oA W RAAR A : int x=10, =5 ; while (x>0) { x--; --; if (y>0) continue ; printf(
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"India"); if (y == -3) break ; } India fraelt aIX fE¥cer ghem 2

1) 4

2) 10

3) 5

4) 6
Ques # :132

What will be output of : if (printf(" %d",printf(""Hello"))) printf("India"); else printf(""BYE");
1) Hello India

2)  HelloSIndia

3) Hello BYE

4) BYE

IGro kol AT3CYC &1 g1 : if (printf("' %d" ,printf(''Hello'))) printf(''India"); else printf("BYE'");
1)  Hello India

2)  Hello5India

3) Hello BYE

4) BYE

Ques # :133

Consider the following C code segment : void main () {int x=10, y=10 ; F (&x,10); printf('"'%d , %d",x,y);}
void F(int *x, inty) { *x =20 ; y = 20 ; return ; } Output of program will be :

1) 20,20

2) 20,10

3) 10,20

4) 10,10

faFeT C #13 Yorde W fFTR X : void main () {int x=10, y=10 ; F (&x,10); printf("%d , %d",x,y);}

VoidF(int*x,inty){*x=20;y=20;return;}WWWWG’M‘[:
1) 20,20
2) 20,10
3) 10,20
4) 10,10

Ques # :134

Which of the following file is not generated by C compiler when a program xyz.c is compiled ?
1) xyz.bid
2) xyz.bak
3) xyz.obj
4) xyz.exe

S UF GATH xyz.c F S AT AT § a9 e & § FieT € BI5a C FFIIFAR GaRT AL qIrt

STl

1) xyz.bid
2) xyz.bak
3) xyz.obj
4) xyz.exe

Ques # :135

Consider following C statement: int y =77, x=10 ; x=5/9 * (y-32) ; Value of x will be

1) 10
2) 45
3) 32
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4) 0

faFT C ReAT W RAAR X : int y =77, x=10 ; x= 5/9 * (y-32) ; x FT AT FAT T 2
1) 10
2) 45
3) 32
4) 0

Ques # :136

Consider following declaration in C program : I : void x ; II : void *p ; Choose true statement about I and II :
1) I - Compilation Error , II - Valid

2)1- Valid , IT - Compilation Error

3) - Valid, II - Valid

4) I - Compilation Error , II - Compilation Error

C WA H AT ) BFa e W AR 1 : void x ; II : void *p;IWII*ﬁ?WWﬂﬁU:
D 1. fugare wy, 11 - 3fas

2) -39, 11 - HUSae TR

3 1-dfas, -3

4) 1 - ST WX, 11 - HUTSeIRIT T

Ques # :137

Consider following array declarationin C : int al[ ] = {2, 3, 5} ; int a2[ | ; int a3[0] ; int a4[1] ; float a5[3.5] ;
The valid declaration are :

1)al, a4

2)al, a3 ,a4
3)al, a4, a5
4)al, a2, a3

C # fara W Bl W AaR X : int al[]=1{2,3,5};inta2[ ] ; int a3[0] ; int a4[1] ; float

a5[3.5] ; AT fTFaeT
1)al, a4

2) al, a3 ,a4

3) al, a4, a5

4) al, a2, a3

Ques # :138

In context of command line arguments in C program, argv is :
1) Array of characters

2) Array of character pointers

3) Pointer to character array

4) An integer variable

CW*WWW@?WﬁargV%:
1) Q% 377 sierecH

2) OY 3T FHiFery dieey

3) gTger T IFRA W

4) ueh gfecs IRTad

Ques # :139

The inbuilt C string function " strempi" ?
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1) Compare two string with case sensitivity

2) Compare two string without case sensitivity
3) Return longer string from two input string
4) Return one if two input strings are equal

C FT SATIeC BT " strempi " :

D) gy fRegar r v SR & arer orer el &
2) gy fegar 41 v SRR &5 R oretl e &
3) & g Fegar oF & ad focer at Reeet e ¥
4) ar geTqe Rgar AT § Y 1 ReeT e §

Ques # :140

Valid sequence of moves to solve tower of Hanoi problem with 3 disks if disks are required from stand A to
stand C using stand B ?

) A-C A—=B,C—=B, 6 A-=C, 6 B=C,6 B=C

2) AB A—=B A=C B—=C B=C
3HA—B A-=C B—A C—B A—C B—=C A-=C
4 A= C A—B C—B A=C B—A B—=C A-=C

et BT #Y AT 3116 g1S Uisard & GATUT & fT R ey &1 98 &7 a1 1o I Rt

I EET A XS C WES BN Teward ReaRa w=mg
1) A= C A—B C—B A-C B—C, B—=C

2) A-B,A=B,A-C,B—C B-C
3)A—B,A-C,B—A,C—B,A-C, B-C,A-C

4 A—-C,A—B, C—B A—=C, B—A, 6 B-C A-C

Ques # :141

Choose a false statement for a static data member of class in C++ :
1) Initialized with zero and only once

2) Only one copy is created for all objects

3) Visible in entire program

4) Lifetime is entire program

C++ Y U Fard & Ffaw s1eT Avaw & IR 7 34T FY T
D) draer v IR T = A SRS et §

2) ot 3ifeaiare & foIT shael Teh shidy gl &
3)§Wﬁﬁﬁ'ﬁrm%

4) R NI FHHT ASHETSH &l &

Ques # :142

Choose an invalid C++ file extension for one or another C++ system
1) .cxx

2) .C

3) .cc

4) .out

AT & @ FIFAT C-++ &1 T 3ryar R 31 RATed & v U wsa vqaera a1 8 2
I) .cxx
2) .C
3) .cc
4) .out
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Ques # :143

Choose an invalid C statement ?
1) float a=b=20.45 ;

2) x =(y=50) +10 ;
3)Q=37+2.375;

Hx%=k;

T HAY C mﬂﬁ'@
1) float a=b=20.45 ;

2) x =(y=50) +10;

3) Q=37+2.375;
4Hx%=k;

Ques # :144

In C++, choose characteristics of a friend function (F) of class (C ) which is not valid :
1) F is within scope of class C

2) F is not invoked using an object of C with dot (.) Operator

3) F has same meaning if it is declared in private or public part of C

4) F cannot access member variable of C directly, without object

C++ H FATH C F 3 BFA F FT 0Tt gfaw Sy Arderaadi e 2
DrFamacawradg

2) F &l C & 3iTeotere T STc () 3TIXeT & 1Y SeTdieh 78T fhar ST &

3) F o7 312 G1ATS W8T § Ife 38 C & Wisae 3Yar giceres ure 3 fSdal3n
) F, FoITd C & AFST ANT Fl [§=17 3ifeatae DY & vaag F&T 3 FhdT

Ques # :145

In C++ Which of the following is not true about constructor (C ) of a class xyz ?
1) Name of C must be xyz

2) Return type of C is void

3) C should be declared in public section of class xyz

4) C is not inherited but derived class of xyz can call C

C++ H, TS FATH xyz & HECFEI C & TR H FIAHT FYT AT AGI § 2
1) Caﬂﬂmxyzmm%'

2) C &1 T T3 void BT &

3) C I FITH xyz o Ufeeleh T2l H f3Fel3R fohar S aifee

4) C 36 R 8T BIcT T xyz hi SRISES FollH C T hiel T Fehcll &

Ques # :146

Which of the following is not a pair of C++ operator
1) new, delete

2) <<, >

3) endl, stew

4) this , NULL

fFT & & C++ ARSI FTITA L
1) new, delete
2) <<, >>
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3) endl, stew
4) this , NULL

Ques # :147

Choose false statement in context of C++ :

1) Virtual function must be member of some class

2) Virtual function can be static member of class

3) Virtual function of a class can be friend of another class
4) Virtual function are accessed using object pointers

C++ & Feast # 3T HYA AT ;

D) aj3rer thereret oY Felt &7 TG g1 A1fRT

2) T3l herelel ol T Eefeeh TeEd gl Hehell &

3) v Farrd ol TYITCT herRIeT 3 FoIT g T $hS &1 Fehell &
4)a§mdﬁ%mﬁmq‘lﬁw$aﬁmwmmﬁ%

Ques # :148

Let base class B is inherited in protected mode by class D. Visibility of private , protected and public members
of class B in Class D is respectively :

1) Private , Protected ,Public

2) Private, Private, Protected

3) Non Inherited, Private, Protected

4) Non Inherited , Protected, Protected

HATAT FTH D UF 97 FATH B F WIeFes Al & seeRe FIAT § | F1H B F USa<, NeFes auT
gfeds Texal H AFATTHE FarT D & Haer: gl ;

D) grsde | dieae s, fsels

2) grzde , UIEae, Weaes

3) =g Re w7ET glom, Tgde, s

) seg e ¢ g9, Wieeres, Wieaes

Ques # :149

Which of the following is not supported by C++ ?
1) Automatic garbage Collection

2) Multiple Inheritance

3) Smart Pointer

4) Virtual Destructor

T F ¥ P C++ g€ At e ?
D) smerafes amds soeere

2) AedIuel s ied

3) TATE dige

4) a3rer fegaex

Ques # :150

Choose true Statement in context of C++ :-
1) If catch statement does not catch exception it generates error
2) catch (... ) is not permitted
3) If try does not throw exception, it generates error
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4) One try block may have multiple catch blocks

C++ & Fog sl # e FY« I :

D) Ife $ar Teesie U off vardeere e o Y aY I8 T &I
2) cateh (.. .) FTAT AL &

3) FfE err, verdeere Y 7 Y Y Ig T &I

4) Ueh T Sclleh & g Sl Solleh &1 Tehdl &
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